Lecture 8 Practice Midterm 1 Posted (not to be turned in) likewise Notation: an T+2, • If an is increasing and an v-a. • If an is decreasing and converges to 2, and 32

Ihm:

All increasing sequences that are unbounded above diverge to tax.
All decreasing sequences that are unbounded below diverge to -∞.



Kmk: Suppose an: IN->TR If an is increasing and not identication = (-~, 1,1,1,.) unbod above · If an is decreasing and not identically to, then unbdd = Sunbdd below KmkiSuppose an is monotone 1) an bod = converges 2) an unodd A. an increasing (a) $an \equiv -\infty = \int \lim_{n \to \infty} \lim_{n \to \infty} an = -\infty$ (b) unbdd above => liman=+00 B. an decreasing fai an=+ as = Slim an=+ as (b) unbld below => liman=-00

<u>Kmk</u>: Suppose an IN->TR increasing 1) an = - 00 ynel > lim an = - 00 2) an= - a for at most finitely many nEN Then up to modifying finitely many elts in sequences an is bounded Ubelow A. an is bounded above => lim n=>00 an ER B. an is unbounded above => lim an = + 20

Similarly for an: IN->IR decreasing

Cor: For an N->TR monotone,

Thm: The sequence $(1+\frac{1}{n})^n$ is increasing and convergent. The limit is denoted e.



 $\underline{E_{X}}$: For nZ4, the sequence n^m 1

To see this, note that $(n+1)^{\frac{1}{n+1}} \leq n^{\frac{1}{n}} \leq (n+1)^{n} \leq n^{n+1}$ $\left(\frac{n+1}{n}\right)^n \leq n$ \Leftrightarrow $(1+ \pm)^{n} \leq n$ Thus this holds Recall from previous thm. that $(1+n)^n \leq 4$ $\forall n \in \mathbb{N}$. Furthermore n'm ZO YnelN, so n'm is bounded, hence converged to some LER. Thus (2k) 1/2k converges to h. $L^{2} = \lim_{k \to \infty} (2k)^{2/2k} = \lim_{k \to \infty} 2(2k)^{2/2k} = \lim_{k \to \infty} 2(2k)^{2/2k}$ $=\lim_{k\to\infty}^{1} 2^{1/k} (k)^{1/k} = 1$

Furthermore, $l \le n \le \frac{1}{2}$ in $\le n^m$ Thus L=0 is impossible. Hence L=1.

17 Real Exponents Goal: For a >0, xelR, define a^x. Background: rational exponents

Thm: Yazo, nell, there exists bz0 s.t. bⁿ=a. Denote bas a'm.

Cor: YaelR, nENodd, J belR s.t. bⁿ=a. Denote bas a'm.

Del: For any rEQ, suppose rem for one Z, nel N is its expression in lowest terms. Define $\chi^r = (\chi'n)m'_{1}$ for all xs.t. x'n is defined.

Lemma: For all $\chi = 0$, reQ, if $r = \frac{k}{\ell}$, $k \in \mathbb{Z}$, $l \in \mathbb{N}$, then not necessarily in lowest $\chi r = (\chi / e)^k$ terms

Pl: First, note that brany $\left(\left(\chi^{\frac{1}{2}}\right)^{\frac{1}{2}}\right)^{\frac{1}{2}} = \left(\left(\chi^{\frac{1}{2}}\right)^{\frac{1}{2}}\right)^{\frac{1}{2}} = \chi$ Thus, $(\chi_{\dot{3}})_{i}^{\uparrow} = \chi_{\dot{3}}^{\downarrow}$.

Let $r = \frac{m}{m}$ be the expression of r in lowest tarms. Then $m = \frac{k}{2} \iff k = m \frac{m}{m}$.

Thus, n is a divisoral, so I jENS.t. l=nj. Likewise k=mj.

Then $(\chi'_{k})^{k} = (\chi \frac{1}{n_{j}})^{m_{j}} = ((\chi \frac{1}{n_{j}})^{j})^{m_{j}}$ $=\chi \frac{m}{m} = \chi r$

Thm: For all $0, q \in Q, \chi \in \mathbb{R}$, If $\chi > 0$, (i) $\chi^{0+9} = \chi^0 \chi^9$ (ii) $\chi^{\mathcal{P}} = \frac{1}{\chi^{-}} \rho$ $(iii)(\chi\chi)^{P} = \chi^{P}\chi^{P}$ $(iv)(\chi P)^{2} = \chi^{P}\beta^{2}$

(v) If U<x<y, p>0, then x^P<y^P (vi) If x>1 and p<g, then x^P<x^P

Pl: Suppose p=m,q=k for m,kEZ, n,lEIN.

First, we will show (i).

 $\chi^{0+g} = \chi \frac{ml+kn}{ln}$ $= (\chi \frac{1}{2n})^{ml+kn}$ = $(\chi \frac{1}{2n})^{ml} (\chi \frac{1}{2n})^{kn}$ = $\chi^{mn} \chi^{k/2}$ $= \chi^{\mathcal{P}}\chi^{\mathcal{Q}}$ ancbn Next, we show (r). Since x<y => x n < y n => x n < y n 0 D a < b

Now real valued exponents.

Ida: For any a?O, define a as lim arm where rn IN=G satisfyner nos K.

 $\frac{Thm!}{N} \forall x \in \mathbb{R}, \exists rn! N \supset Q$ s.t. $rn \nearrow x$.



Choose rrEll so that max{x-k, rr-1} < rr < x

By construction rn is increasing

and since X-the merx AneIN, by Squeeze Thm, lim m=x.

 $\frac{\text{Jemma}: \text{Suppose } a^{2}1, x \in \mathbb{R}}{\text{and } rn, \text{sn}: \mathbb{N} \to \mathbb{G} \text{ s.t.}}$ $\frac{rn}{x}, \text{sn} \times \mathbb{X}. \text{ Then}$ $\lim_{n \to \infty} a^{rn} = \lim_{n \to \infty} a^{sn}.$

PP: First, observe that by previous thm, part (vil), arn is increasing. Also 1<arn<ago for goed, yo>x. Thus an converges. Similarly a^{sn} converges.

Define Rn=rn-n and =sn-n. Then $\lim_{n \to \infty} a^{Rn} = \lim_{n \to \infty} a^{rn-n} = \lim_{n \to \infty} a^{rn-n} = \lim_{n \to \infty} a^{rn} a^{n}$ $= \lim_{n \to \infty} a^{rn} a^{n}$ and similarly $\lim_{n \to \infty} a^{Sn} = \lim_{n \to \infty} a^{Sn}.$ Thus, it suffices to show lim Kn = lim a Sn.

We construct a new sequence b_{x}/x as follows. Let $b_1 = 0R_1$. Since $R_1 < x$, $\exists n_2 s.t.$ $R_1 < Sn_2 < \chi$. Likewise, $\exists n_3$

S.t. n3>1 and Rn3>Sn2. Finally, J ny n2 s.t. Sny Rng. In this way, we construct by so odd selfs are subjeg. of Rn and even els are of subseq of Sn. Thus betx. So lim abre R.

Since all subseq musthave same limits. O